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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

This guide includes some examples of student responses to a selection of
guestions from the summer 2018 Maths Paper 2E.

The question parts are reproduced, along with the final mark scheme,
student responses and a commentary from the Lead Examiner on each of
the students’ answers.
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

QUESTION
10

10 The diagram shows shapes P and (.

L

Describe fully the single transformation that maps shape P to shape QL
[3 marks]
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

(Around the point) (0, 2)

Q Answer Mark Comments
Rotation B1
90" anti-clockwise
10 or 2707 clockwise B1
or % turn anti-clockwise
or % turn clockwise
B1
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

10 The diagram shows shapes P and Q.

}'Jh

|
L

R 1

Describe fully the single transformation that maps shape P to shape Q.

[3 marks]

_ Rolukon  fees
| NS o 95, . TR

EXAMINER COMMENTARY

The student has identified the rotation and the centre of rotation for 2 marks.
The description requires both the direction and the angle of turn, but 90° has
not been stated.

2 marks out of a possible 3 awarded

The student has worked back from the bars that were drawn to complete the
table for the first mark. The remaining two bars have been completed using
the idea that one large square represents 5 lessons. As no scale or key has
been shown, no follow through marks could be awarded.

1 mark out of a possible 4 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

10 The diagram shows shapes P and Q.

Y

=Y

Describe fully the single transformation that maps shape P to shape Q.
[3 marks]

. Rotation anticlok 9o’ with center (1,2)

EXAMINER COMMENTARY

The student has identified it is a rotation for 1 mark. The correct angle and
direction have been stated for another mark (‘anticlock’ was accepted as
indicating anti-clockwise). Many students struggled to work out the correct
centre of rotation. This student has joined the transformed vertices and
attempted to find the intersection of the perpendicular bisectors but has not
worked accurately. Some students successfully used a trial approach using
tracing paper.

2 marks out of a possible 3 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

QUESTION
15
15 This trophy is a square-based pyramid on fop of a 10 cm cube.
AV=BV=CV=DV=85cm
v
#
f‘lr
85cm
’
_1:'..'[? ................. G
i
-
1
|
10em i
H
e — e e 3
A
E 10 cm F

Abox iz a10.2 cm by 102 em by 15 cm cuboid.

Will the trophy fit in the box?

Wou must show your working.
[4 marks]

Answer

Copyright © 2019 Oxford International AQA Examinations and its licensors. All rights reserved. 7



INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Q

Answer

Mark

Comments

15

J +10° o -JEI:I or

1042 or 14.1(..))

or 452 +5° or Jﬁ or Swfi

M1

52 _ ((their 1042) = 2

or 8.5% _ (their /50 )2
or 2225

or 4f22.25 or 4.7...

M1 dep

.fll'_leir 2225 +10

or 4.7(169905) + 10
or 14(.7...)

or 15 — (|fiheir 22.25 = 10)

or 0.2(83...)

M1 dep

14(.7169905) and Yes
or

0.2(B3...)and Yes

Al
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A
15 This trophy is a sguare-based pyramid on tap of a 10 em cube,
Av=BVY=CV=DV=85cm
"
85em
1;_1;-__ s ¢
Al 5 2
10cm !
H
:"L- _________ G
A 10.cm
E 10cm F

A box iz a 10.2 em by 10.2 em by 15 em cuboid.

YWill the traphy fit in the box?
You must show your working.

[4 marks]

In#I-‘TéI ;"L? ?S’m 14984/

2t does 43t

__éié thes, 1Bt

EXAMINER COMMENTARY

The student has correctly worked out the length of the cube’s diagonal for
the first mark. The method to work out the height of the pyramid is correct for
the second mark. The third mark is also gained for the correct method for
the overall height. It is important to show a full method because, had the
student not done so, the incorrect value of 4.98 would have lost the second
mark and all subsequent marks.

3 marks out of a possible 4 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

18 Thiz trophy is a square-basad pyramid on lop of a 10 em cuba.
AV =8V = Cv=D0V=85cm

)
______________ c
A Z
10 em i
1H
RS e e T
/; 10 em
E 10 em F

Abodiz a 102 cm by 10.2 cm by 18 cm cuboid.

Wil the trophy fit in the box?

You must show your working.
[4 marks]

boX = 10.2 X10-2x\$=156Q.56
bﬁni)e\nh: s Ya (‘5" L-314 % 10 x\0)
Rl P
B -> loxlox\w =l

o e YHeb = MFLEE
1660. 6 143086 = €. HY

Ansuer %;L T

EXAMINER COMMENTARY

Although no method has been shown, the value of 4.719 for the height of the
pyramid gains 2 marks as it implies that the correct method must have been

used. Subsequently the student has attempted to work out the volume of the
pyramid and compare it with the volume of the box which is an inappropriate
method and gains no further marks.

2 marks out of a possible 4 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)

PAPER 2E EXAMPLE RESP

ONSES WITH COMMENTARY

QUESTION
23
23 Claire has this cylindrical, metal, hollow tube.
a &om "
& cm

-

~_

A cross-section of the tube is shown.

2 cm

10 em

Mot drawn
accurately

Claire melts the tube and uses the metal to make zolid spheres with radius 0.75 cm

473

Volume of a aphere = 3

where r is the radius

She makes as many of these spheres as possible.
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Answer

Mark

Comments

23

x =3 x 10 or [282.6, 282.78)
or 1 = 4% = 10 or [502.4, 502.72]
or T x4 — 1 x3?

or 7 or[21.98, 21.994]

M1

(r =4%2— 1 =33 =10
ortheir7x =10 or 707

or their [21.98, 21.994] = 10
or [219.8, 219.94]

or T x4 % 10— 7 =37 = 10

or their [502.4, 502.72] - their
[282.6, 282.78]

M1 dep

M2 107 (4% - 3%

3
Axax075" 056257

or [1.76, 1.77]

M1

their 707 = their 0.5625 7
or their 70 x = their [1.76, 1.77]
or 124 .4(444 )

M1 dep

dep on M3

oe eg consistent omission of T

124

Al
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

How many spheres does she make?

\big = Tw'h = = lwT. sl = Ts*h = Gor

XL_MI.—EOTL "!OIL 219.91 ¥ 220 cm?
_ﬁﬁﬁggﬁx byf -"quE—l 1b w2 2m | 3 om?

T = 122.22 8 |22

Answer |22

EXAMINER COMMENTARY

The student has used and shown the correct method throughout. However,
707t has been rounded to 220 and 1.76 has been rounded to 1.8 before the
division, which means that the final answer is inaccurate and loses the last
mark. Students should always keep full values in their calculators.

4 marks out of a possible 5 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

How many spheres does she make?

o

T L N —
3 T T3 =17
yn¥®  4mP®
— - = e

EXAMINER COMMENTARY

The student has worked out the correct volume of one of the spheres and
gains the third mark. However, the student has used the volume of a sphere
rather than a cylinder to work out the amount of metal and does not gain any
further marks. This was a common error.

1 mark out of a possible 5 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

QUESTION
26
26 In & bag there are 80 balls.

50 are red and 30 are green.
Two balls are taken at random.

26 (a) Complete the tree diagram.

[3 marks]
First ball Second ball
red
e
green
red
green
green
26 (b) Work cut the probability that both balls are red.
[2 marks]
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Q Answer Mark Comments
Comect probabilities against
each branch on first pair of B1
arms
Correct probabilities agaimst
each branch on a second pair B1
of arms
43 b
74
i . 3
Eal Ta
26{a) g
Comect probability on each 51
branch
0 50 b
B g )
29
K] g

Additional Guidance

Decimals to 2dp or better
Aocept equivalent fractions/percentages
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

o
50 40
T M1 | & their probabilities from (a) (each
probability must be <1}
0.388 or0.38
Adft =
268(b) | 245 2450 ft their probabilities from (a)
g3z 6320
Additional Guidance
Ignore incomect simplification or conversion to a decimal or
percentage afier comect fraction seen
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A
26 (a) Complete the tree diagram.
[3 marks]
First ball Second ball
'H graen
red
2
€0 7t green
green
26 (b)  Work oul the probability that both balls are red,
L L= 94 el
S . LT R EE s M
S SR . TP 3 S 5 ST S—
3§
Answer 19

EXAMINER COMMENTARY

The student has correctly completed the tree diagram in part (a) and scored
all 3 marks. In part (b), the two relevant probabilities have been added rather
than multiplied and this common misconception gains no marks.

3 marks out of a possible 5 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

26 (a) Complete the tree diagram.

[3 marks]
First ball Second ball
$2
ol
J
E o green
26 (b) Woerk out the probability that both balls ars rad.
[2 marks]
AL T TS
=XN=ct e WHY TyH

Answer 2,25 TIy 24 CH

EXAMINER COMMENTARY

The student has completed the first pair of probabilities accurately for the
first mark. However the student has then subtracted 1 from the numerator
and denominator of the already simplified fraction which gives an incorrect
probability. Many students made this error. However, in part (b) the student
has used the correct method with their probabilities from the tree diagram
and the answer follows through from their earlier error so this gains both
marks.

3 out of a possible 5 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

QUESTION
28
28 The table and the histogram show information about the number of driving lessons taken
by 100 people.
Complete the table and the histogram.
[4 marks]
Humber of lessons, [ Frequency
Sgl=20 G
Wel=25 18
25l=30
30 < 1=40 30
40 < 1= 60

Freqguency
density

0 10 20 a0 40 50 60
Mumber of lessons, |
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

1 lesson

0.5 fd per large sgquare

Q Answer Mark Comments
34 and 12 in table, in comect a1
positions
25 — 30 bar = 7.2 large sguares ft their ingar scale
high (plotted at 3.6 on their Bift
limear scale)
30 — 40 bar = & large sguares ft their inear scale
28 high (plotted at 3 on their inear Bift
scalke)
Correct vertical scale or key
shcaam
eg 10 small squares represants B1
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A
28 The table and the histogram show information about the number of driving lessans taken
by 100 people.

Complete the table and the histogram.,
[4 marks]

| Nur.l.'l.bor ni.l“surr:.l Fraquency
! e . _...__.____E_ .....
| Wi<25 18
25 <71<30 _|_ - 54 -
.30 s " i
wcr<so 2

h3X5 =4t
_ bxp =iz i
B IS
¥ ih=2

Frequency
density

0 10 20 30 40 50 60
Number of lessons,
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

EXAMINER COMMENTARY

The student has worked back from the bars that were drawn to complete the
table for the first mark. This histogram has been accurately completed and
gained two further marks but the vertical scale (or key) have not been
completed for the final mark.

3 marks out of a possible 4 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B
28 The table and 1he histogram show information about the number of driving lessons taken
by 100 people.

Complete the table and the histogram.

[4 marks]
Number of lessons, { Frequency
TR B 3
20 (=25 | 18 B
| 25</<30 | ;LI-
- 30 7= 40 . 30
40 < / = 80 !2_

Freguency
density

0 10 20 30 40 50 80
Mumber of lessons, {
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

EXAMINER COMMENTARY

The student has worked back from the bars that were drawn to complete the
table for the first mark. The remaining two bars have been completed using
the idea that one large square represents 5 lessons. As no scale or key has
been shown, no follow through marks could be awarded.

1 mark out of a possible 4 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

QUESTION
31
Ky A bookshelf has width 68 cm, correct to the nearest cm

Books, each with width 11 mm correct to the nearest mm, are placed along the shelf as
shown.
Work out the maximum number of these books that will definitely fit along the shelf.

You must show your working.
[3 marks]

Answer
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Q Answer Mark Comments

675 or 68.5 or 675 or 685
of 11 5or 1050r1.150r 1.05

B1

their 675 = their 11.5 must be their min shelf = their max book in
same units

MT | 670 < min < 680 or 67 < min < 68

1MT<max<12or11<max<12

or
their 67.5 = their 1.15

31 675 = 11.5 and 58 SC2675+=115 ans=5
or Al
67.5= 1.15 and 58

Additional Guidance

Answer only 58 BOMOAD

58 695 and answer 58 B1M1A1
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

kY| A bookshelf has width 68 cm, correct to the nearest cm

Books, each with width 11 mm correct to the nearest mm, are placed along the shelf as
shown.

Work out the maximum number of these books that will definitely fit along the shelf.

- ¥You must show your working.

, : -..J'J t -:‘
b3 To=s=bg=tl b3-0-5= L‘; Ech-hf‘"‘" '
b1s= 140y ’59[ bosk s,

[3 marks]

Answer 50\ I’wl%

EXAMINER COMMENTARY

A correct lower bound has been given for the shelf width so this gained the
first mark. The student then divided by their maximum book width which,
although incorrect, was in the acceptable range for the second mark.

2 marks out of a possible 3 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

(31 A bookshelf has width 68 cm, correct to the nearest cm

Books, each with width 11 mm correct to the nearest mm, are placed along the shelf as
shown.

! Work aut the maximum number of these books that will definitely fit along the shelf.

' You must show your working,
[3 marks]

Buokshel: ;f:_UWc Lauimﬁﬁﬂ 4} 8.5tm v (select ) R
ES- 1x3 T.5tr -
_E.LQJL&- IPE:’ ——11-_-:“ [ F S
Ponle tl=1x1 = 05 mm v cstlect)

- DM mm
MOXi mum humber = 10.Smm bS23 aLY

| Answer 6 5

EXAMINER COMMENTARY

The student has written all four correct bounds so has gained the first mark.
However, the student then divides the maximum by the minimum so can
score no more marks. This is the maximum number that might be able to fit
along the shelf rather than the number that will definitely fit.

1 mark out of a possible 3 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

QUESTION
32
32 Calculate the gradient of the curve y=({2x+2)3x-1) at the point (3, 64)

[4 marks]

Answer
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

0 Answer Mark Comments

at least 3 terms correct

=)Bx* —2x+6x -2 M1
o) implied by 6x* + ax — 2
2Zx+dor12x-2+6 Midep | at least one correct term for their y=
j_ir — 1Py + 4 fully correct
Al

32 dy _
or—- = 12r-2+6

40 Alft ﬂtheir%dﬂ]efﬂrmar+b'rfmzawardad

Additional Guidance

Correct use of product rule acceptable
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

i _
32 Calculate the gmdjg_ns of the curve y={2c+2)(3x—1) at the point (3, 64)
: [4 marks]

i b= 28+ -2
e [ e M

J

PR i, ' | ) -

Answer 3 2

EXAMINER COMMENTARY

The student has expanded the brackets correctly for the first mark but then
has collected the terms incorrectly. The second mark has been awarded for
at least one term correctly differentiated. The third mark is lost because the
gradient function is not completely correct. However, the final value of the
gradient does follow through their gradient function at the point X = 3, so has
been awarded the follow through mark.

3 marks out of a possible 4 awarded
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INTERNATIONAL GCSE MATHS (9260-2E)
PAPER 2E EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

32 } Calculate the gradient of the curve y=[(2x+2¥¥x - 1) al the point (3, 64)

[¢ marks]
= b vbx—ax — % % |3
W Eox wAx-—d
-

64 =44 L \2 - A
L4 = 64

e vy s e

Answer °n %

EXAMINER COMMENTARY

The student has expanded the brackets correctly for the first mark. The
student does not make any attempt to differentiate the function so does not
gain any more marks. Many of the weaker students did not realise the need
for calculus.

1 mark out of a possible 4 awarded
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FURTHER GUIDANCE AND CONTACTS

You can contact the subject team directly at

Please note: We aim to respond to all email enquiries within two working days.

Our UK office hours are Monday to Friday, 8am - 5pm local time.

OXFORD

INTERNATIONAL
AQA EXAMINATIONS

OXFORD INTERNATIONAL AQA EXAMINATIONS
GREAT CLARENDON STREET, OXFORD, OX2 6DP
UNITED KINGDOM

enquiries@oxfordagaexams.org.uk
oxfordagaexams.org.uk
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